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Graphing Linear Equations in Standard Form
3.4

The standard form of a linear equation is Ax + By = C, where A, B, and C are integers and 4 and B are not
both zero.
Consider what happens when A = 0 or when B = 0.
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Using Intercepts to Graph Equations Ly
The x-intercept of a graph is the x-coordinate of a point where ¥ e g
the graph crosses the x-axis. It occurs wheny = 0. (0, b) "\ —
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The y-intercept of a graph is the y-coordinate of a point where | .
the graph crosses the y-axis. It occurs when x = 0. o" (@0

To graph the linear equation Ax + By = C, find the intercepts and draw the line that passes through the
two intercepts.

e Tofind the x-intercept, let y = 0 and solve for x.

e To find the y-intercept, let x = 0 and solve for y.



Example 2: Use intercepts to graph the equation 3x + 4y = 12.
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Finding Zeros of Functions -—
A zero of a function f is an x-value for which f(x) = 0 (or y = 0). A zero of a function is an[x-intercept lof
the graph of the function.

XD \\AS N O Rz L1 and SO,
3

Exampl Find the zero of the function Example 4: An artist rents a booth at an art show
for f(x) = —2x + 4. - -9 4 $300. The function f(x) = 50x — 300 represents
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Example 5: You are planning an awards banguet for your school. You need to rent tables to seat 180 people.
Tables come in two sizes. Small tables seat 6 people, and large tables seat 10 people. The equation 6x +
10y = 180 models this situation, where x is the number of small tables and y is the number of large tables.
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a. Graph the equation. Interpret the intercepts. &T\T\D‘k ONL ﬁQCjQ'h\JL NuM Y
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